[image: image1]
[image: image1]

WORKING OUT YOUR BREAK-EVEN POINT

INFORMATION FOR YOUR FEE STRUCTURE (A SIMPLE EXAMPLE)
As well as monitoring occupancy trends to aid potential sustainability, knowing your average occupancy figure can also help when it comes to setting the fee structure for your childcare business.

The full financial aspects of operating a childcare business are covered separately on the ‘Looking After Your Business’ section of the Early Years Website, but this briefing paper provides a very quick outline as to how to roughly calculate the amount you need to charge for each childcare session in order to break-even.  Breaking-even is the amount of income you need to generate just to cover your costs for running the session, ideally we will be aiming to achieve a profit, over and above the break-even point to aid sustainability, but to do this we need to know what the break-even point actually is!

Working out the break-even point correctly will inform you on how many children you need to attend your setting to make sure your business is viable. The advantage of knowing the break-even point is that if you can improve on this occupancy level by looking after more children, or if you can increase your fees slightly, or both, then you can establish what your profit will be over the month.
A SIMPLE EXAMPLE

The following information provides a simple example of how you can cost a straightforward, term time only provision.  The numbers used and the type of Setting are for illustration purposes only, they do not reflect actual pay rates, grants, prices etc.  This example provides a method which you can tweak and utilise for your own specific provision and make it relevant to you.  Your provision may have additional costs or additional sources of Income that need to be taken into account when you work out your own figures.  

ASSUMPTIONS FOR THIS EXAMPLE:

1. You are setting up a term-time only, 24 place, Pre-School in a community centre.  You will operate 38 weeks a year for 3 and 4 year olds.  Sessions will last 8 hours per day (during which the children will be given snacks and lunch) so allowing some set-up and admin time staff will actually work 9 hours each, except the Cook, who will work 4 hours a day.

2. Children will be supervised at the correct Staffing Ratio in line with the EYFS and there will be a Supervisor, 2 x NVQ Level 3 staff and a cook.  The hourly rates given the example include wages and on-costs.  
(NOTE: “On-Costs” are the direct costs of employing someone, over and above their Wages – for example the Employer’s National Insurance and Pension Contributions that the organisation has to pay). 

3. Example cost for food = £1.50 per child and £2.00 to provide play materials per child per day. 

4. Overheads for rent, heat, light etc. are, in this example, shared with other occupants of the building in proportion to the hours each organisation uses it. Set-up and pack-away time will needs to be factored in.  Assume the cost here is £100 per week. Depending on the Settings, you might not share a building and have to pay all your own bills therefore the costing would be higher.
5. Assume you need to generate a small margin and save-up for replacement equipment, as required, costed as £30 per week, and cover all the other Miscellaneous Costs such as Stationery, Insurance, Registration, Training, Recruitment etc. at £30 per week.
6. We have assumed the provision attracts no Grant Funding this year.
We can map this information into the example table below to establish our weekly operating costs on this basis.  You can adapt this information and these simple headings to mirror the needs of your own childcare business.  
WORKING OUT YOUR WEEKLY OPERATING COSTS:

	Staff Costs
	1 Supervisor @ £15.00 per hour x 9 hours a day x 5 days per week = £675
2 x  NVQ3, each @ £10 per hour x 9 hours a day x 5 days week = £450 (x 2 staff = £900)
1 Cook @ £10 per hour x 4 hours a day x 5 days week = £200
	£1,775

	Food Costs
	24 Children  x  £1.50 per day  x 5 days
	£180

	Play Materials etc.
	24 Children  x  £2.00 per day  x 5 days
	£240

	Share of Building Overheads
	Per week
	£100

	Replacement Equipment
	Per week
	£30

	Other Miscellaneous Costs
	Per week
	£30

	
	TOTAL WEEKLY OPERATING COSTS
	£2,355


Operating Costs for a full year (Term Time Only, 38 weeks out of 52) are:

Weekly £2,355 x   38   =   £89,490
WORKING OUT YOUR BREAK-EVEN POINT

	Operating Costs for Full Year, needing to be covered
	   £84,490

	Less any other known income, subsidies, grants etc.       
	-  £ N/A in this case

	Balance needed to raise for the Year, just to Break- Even
	   £84,490

	. . . which divided by the number of actual Operating Weeks you will be trading . . .
	 Divided by 38

	. . . means that each Week, just to Break-Even, the Setting must generate Income of:
	£2,355


WORKING OUT WHAT YOU HAVE TO CHARGE

You’ve now worked out what it is costing you, on average, to operate your provision every single Week it’s open; how much Grant Funding etc. (if any) contributes towards that; and the size of the shortfall that needs to be covered just to Break-Even.  That’s called the ‘Break-Even Point’.

Assuming you have no other sources of Income, therefore, this allows you to work out what you need to charge Parents/Carers as an absolute minimum:

· Minimum Income Generation requirement (Break-Even Point): £2,355 per Week (as above)

· This has to be earned between your 24 Places:

	 £2,355
	Divided by 24  =
	£98.13
	Per Place, per Week


· So rounding-up that figure to the nearest 50p to simplify calculations: in theory you would need to charge a Fee of :

£98.50 per place, per week  . . . if the childcare setting had 100% occupancy  
· This would be £19.70 per Full Time Equivalent Place per day in order to break-even.
However….
It is unrealistic to expect any childcare provision to be 100% full, 100% of the time. So for budgeting purposes, it would be prudent to base your calculations on 75% Occupancy Level (averaging only three-quarters full)
In our example, using 75% this means the income generation requirement figure to break-even has to be spread between an average actual occupancy take-up, so not between 24, but between only 18 Full Time Equivalent Places per day instead: 

Therefore…
	£2,355
	Divided by 18  =
	£130.83
	Per Place, per Week


· Rounded-up to the nearest 50p to simplify calculations then gives a Fee Rate of £131 per place, per week, just to break even.
This can further be broken-down into hourly, sessional or daily rates as appropriate for your childcare business.  If you have guaranteed external funding coming in, such as from free early years entitlements funding, you can always deduct this from your weekly costs before working out what needs to be passed on to parents/carers to ensure the provision remains sustainable.

When you know what your break-even point is, you can mindful when doing your occupancy monitoring whether or not the provision will have covered its costs based on the number of childcare places sold that week and further advantages of knowing your break-even point are that you know what occupancy numbers you need to exceed, or what fees you need to charge more than, or both, if you aim to make a profit and ensure the sustainability of your childcare provision, which we would always encourage from a prudent business financial perspective.
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